
 

f;jk jdr mÍlaIKh 2023 

6 fY%aKsh .Ks;h  -  ms<s;=re m;%h 

                    1 fldgi 

^01&    
  
 = 
 

 
  

^02&   5 732 004  mia ñ,shk y;aish fooyia y;rhs' 

^03&   ^2& 43    ^3& 35 

^04&   re( 90  

^05&   ksh;hla 

^06&  1,2, 4, 7, 14, 28 

^07& 5 kg 25 g      

^08& 25 

^09& iqÿiq rEmhlg       

^10& 6 

^11& 7.25m 

^12& 1, 4 , 9         1 + 4 + 9 = 14 

^13& 0.38     

^14& iqÿiq rEmhlg       

^15& 2:1 

^16& .sKsfldK  

^17& 1- iq¿ fldaKh, 2- mrdj¾: fldaKh 

^18& 132 

^19& 19:30   

^20& iqÿiq ms<s;=re follg        (ish¿ ms<s;=re ioyd ,l=Kq 2 ne.ska ,l=Kq 40la ysñfõ) 

6 



2 fldgi 

 

(01) (a) (i) 

2 ne.ska /// 3 

3 ne.ska //// 5 

4 ne.ska ////  / 6 

5 ne.ska // 2 

 ^,l=Kq  4& 
 
(ii)  4      ^,l=Kq  2& 

(iii)     ^,l=Kq  5& 

1 ne.ska  

2 ne.ska  

3 ne.ska     

4 ne.ska  

5 ne.ska  

 

(b) 

I. 5 x 5 =25                        ^,l=Kq  1& 

II. 4 x 4 x 4 = 64                 ^,l=Kq  1& 

III. 25                                          ^,l=Kq  1& 

IV. mdoh -3 o¾Ylh -5      ^,l=Kq  2&    

 
(02)     (a) (i)   6kg 130g       (ii)  500 g   (iii) 2010 g       ^,l=Kq  2 x 3 &    

 (b)  

I. wfma%,a               ^,l=Kq  1&               
II. 2kg 750g                    ^,l=Kq  2&    

III. 5kg 750g                    ^,l=Kq  2&    

 5kg 750g    6kg 500g  m%ldYh i;H fõ 

(03)     (a)   

I. 20 - p             ^,l=Kq  2&    

II. 20 – 8 = 12   ^,l=Kq  2&    

III. 12 + n            ^,l=Kq  2&    

                  (b) 

I.             a + 30           ^,l=Kq  3&    



II. re( 110        ^,l=Kq  2&     

(04)     (a)   

I. ;=k wkq my                      ^,l=Kq  1&     
II. iqÿiq ksjerÈ ms<s;=re follg    ^,l=Kq  2&                       

III. 4:5 

8:5                                                     ^,l=Kq  2&     

IV. 100 : 20 =  5 : 1                                ^,l=Kq  3&     

            (b)    

i. 6l                           ^,l=Kq  2&     

ii. re( 1600                ^,l=Kq  1&     

(05)     (a)   

i. 22 cm 1mm     ^,l=Kq  2&     

ii. 16 cm2              ^,l=Kq  2&     

iii. 5 cm                  ^,l=Kq  2&     

(b)    

i. 2050ml                ^,l=Kq  1&     

ii. 2000ml = 2l         ^,l=Kq  2&     

iii. 5 l   550 ml          ^,l=Kq  2&       

(06)     (a)   

i. iqÿiq ksjerÈ ms<s;=re follg      ^,l=Kq  2&     

ii. 
   

    
   

  

  
   ;=,H Nd.hla fõ     ^,l=Kq  2&     

iii. 1   
  

  
                      ^,l=Kq  2&     

 

2   
 

  
                     ^,l=Kq  2&     

             

(b)    

i. 0.22 , 0.2 , 0.02         ^,l=Kq  1&     

ii. 1.95                             ^,l=Kq  2&     

 


